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1. BEFHUIA
SERA 2,366, 000 2,405, 000
—®Rs8 1,000, 000 915, 000(5, 000Mx2004
HE/E 176, 000 176,000(8, 000Mx224
FEE 368, 000 400, 000(8, 000Mx464
FELE 22,000 14,000(1, 000Mx224
2Hh=E 800, 000 900, 000|100, 000/ (2E1) x8%t
EMTERBEIRA 8,900, 000 7,165,000
SnE (S8 E) 825, 000 745, 000 |==#i10, 000 /24811, 000/
SmE& (£83IJEE) 395, 000 340, 000 |=#17. 000F/ 24 B8, 000/
smE (ER8) 1,260, 000 1,160, 000 | %712, 000/ /2 E13, 000/
SME (FE/ARGEBERSE) 95, 000 115, 000 [==#13, 000F3/24 B4, 000
SNE (BFR) 5,000 5, 000 |1/ E1, 000
LERER 1,360, 000 800, 000
HeEE = F—URA 3,700, 000 2,500, 000
FitE 1,260, 000 1,500, 000
e 0 0
=Fikod 0 0
Z D 0 0
BESSMEBINA 0 285, 000
SNE& (R8/FKE) 0 260, 000
SNE (F4%) 0 25,000
HFREWA 0 0
HURA 5,000 5,000
EMERTEITASINAIRA 500, 000 500, 000
BEFEWAG 11,771,000 10, 360, 000
2. BEEHXE
EXE 9,732,000 8,462,000
EMTEREEE 8,900, 000 7,630, 000
EBEEER 8,900, 000 7,165, 000
BESE 0 285, 000
PR SHME 0 180, 000
R—LR—D8IHE - BFHE 132,000 132,000
=RE 350, 000 350, 000
HEHTLVF—A R 350, 000 350, 000
EEE 1,530, 000 1, 460, 000
=£E 20, 000 70, 000
A& 60, 000 60, 000
REXBE 20, 000 20, 000
BIEEWRE 50, 000 100, 000
ENRI 8 A2 110, 000 90, 000
(BERE 1,150, 000 1, 000, 000
THF AR 70, 000 70, 000
B 50, 000 50, 000
BEFREXIHE 11,262, 000 9,922,000
BEFPINEELE 509, 000 438, 000
LHRIN T = EE 509, 000 438, 000
BIHAMRRRIN ST =58 4,225,410 3,263, 828
REARE IR =58 4,734,410 3,701, 828
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